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Plot Sensor and FgRec Data
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10:00 278 150.0 & =| 1Ri%@10:00 Bz (kBEREEE)
10:50 278 150.0 (& =| 1BRiB@10:50 Bzh (REFREE)
11:35 278 150.0 (& =| 1BRige11:35 Bzh (REERESE)
12:10 278 150.0 | =| Ri%e12:10 Bz (RAEREE)
12:40 278 150.0 (& =| 1BRige12:40 Bzh (REFREE)
13:30 278 150.0 FA| 1BRi%@13:30 B3h (KRAHERSE)
14:20 278 150.0 FA| 1Bi&014:20 B3 (RAHEREE)
15:10 278 150.0 FA| {Ri%@15:10 Bz CGRAEESE)
16:00 278 150.0 FA| 1BRi%@16:00 B3h (KRAERESE)
17:15 278 150.0 FA| 1Bi&e17:15 B3h (GRAEREEE)
2it]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.8

##[EKECE (2080.0 vs 4603.0) 35
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ET (ml/hr/plant) ET (ml/hr/plant)
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P3-8_0, Day=55 (2025-05-23)
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P3-8

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

06:05 278 150.0 (£ =| {Ri%@06:05 Bz (REAEESE)
06:30 278 150.0 & =| 1Ri%@06:30 Bz (kPBIEREE)
06:55 278 150.0 & =| 1Ri%@06:55 Bz (KAEREEE)
08:20 278 150.0 & =| 1Ri%@08:20 Bz (KAL)
09:45 278 150.0 FA| {Ri%@09:45 Bz (RkAMEREE)
11:10 278 150.0 FHl fBRige11:10 Bzah (GRAERESE)
12:25 278 150.0 FA| {Ri%e@12:25 Bzl (GRAEEE)
13:45 278 150.0 FA| 1Ri%e13:45 Bl (REAEREE)
15:25 278 150.0 FH| 1Bige15:25 Bzl (GRAEREE)
21t+]2502.0 (97%) 1350. 0 3203 KEC: 2080.0, PH: 5.6

#H[EKRECE (2040.0 vs 5127.0) 35



P3-8_0, Day=54 (2025-05-22)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

200 -

ET (ml/hr/plant)

0 pb—a——la__a

1
Bylnit] @57 01:49: ET=1694 Fg=2250.0 Ro=561.0

p——&

3000

- 2000

- 1000

6004 O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400

ET (ml/hr/plant)

200 -

5n|%=| 5 | kBB | kBB | k5 | ks | PH | FBH | B | BH [ BA [ BA [ BA [ B | BA | BA | BH | BH | FH | BH | BH [ BH [ BA

3000

ByEt @D54 17:26: ET=1241 Fg=1224.0 Ro=nan

- 2000

- 1000

o
6004 O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

ET (ml/hr/plant)

400

200 -

55|35 (375|275 |25 | KB | Z2=x|Z= %= | 0 | B [ BA [ BA [ BA [ B | BA | BA | BH | BH | FH | BH | BH [ BH [ BA

3000

]
ByWon: @D57 01:49: ET=941 Fg=1350.0 Ro=233.0

G ) G B . e —

- 2000

- 1000

1.0

0812|2533 |25 | B |$5=(%= (%= | BB [ FH | A | BA [ FPH | BA | BA [ FH | BH | BA [ FH | BH | BA [ FH | BA

0.6

0.4+

0.2~

0.0

400 ~

200 -

22.8—

20.0 -

17.5 A

—_—
[ ] | _obs
—@— PPFD obs

15.0

12.5

RH
o RH_obs
RHo_obs

L/ ® VP
’d W‘ L7 ]

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



48

46 -

44 -

42 -

40 -

38 -

36

T T T
600 700 800

m=595,m FV0=0

47 -

46

45 A

44 -

43 -

42 15

T T
600 605

m=900,m FV0=0

46

44 -

42 -

40 -

900

905 910

m=539,m FV0=0

41 A

40 -

39 A

535

540 545

m=440, FV0=0

46

44 -

42

40 -

38 -

36 A

T T
445 450

m=650,m FV0=0

47 -

46

45 ~

44

43 -

655 660

42 A

40 -

38 A

36

600 700 800

m=595,m FV0=0

41.5

41.0 A

40.5 -

40. 0 -

39.5 4

39.0 A

595

600 605

m=465, FV0=0

47 -

46 -

45 -

44

43

42 -

465

T T
470 475

m=690,m FV0=0

48 -

47 -

46 -

45 -

44 -

43

T T
695 700

m=440,m FV0=0

39 A

38 A

37 A

36

35 -

440

445 450

m=650,m FV0=0

41.5 A

41.0 A

40. 5 -

40. 0 -

39.5 -

39. 0 -

41.

41.

40.

40.

39.

39.

38.

41.

41.

40.

40.

39.

m=535, FV0=0

47

46

45 -

44

43 -

42 -

5&0 5&5
m=745,n FV0=0

46

45

44

43 -

750 7%5
m=465,n FV0=0

465

4%0 4%5
m=690,n FV0=0

690

695 700




m=745, FV0=0 m=900, FV0=0

—— MW —— MW
41.5 - 417
41.0
40
40.5
40.0 - 39 1
39.5 -
38 -
39.0 -
T T T T T T
745 750 755 900 905 910



hour

1
1
12

16
17

© 00 N N o =

125
:00
:35
:05
12:
13:
13:
:30
15:
:00
:00

100

80

- 60

- 40

35
10
50

10

@ .
‘*@»
@ -
EN
>
\%,%
@%%
z&@(
EN
%,
&
. ]

'

R
-



P3-8

BfiE) | GEBEETIC (FD) | EHM=E (EAH/K) | XK R

07:25 278 150.0 |Z=| 1BRi&e07:25 Bzh (REAERSE)
07:50 278 150.0 [Z=| 1BRig@07:50 Bzh (REERESE)
08:45 278 150.0 (Z=| {Ri%@08:45 HE (FEAHEEHSE)
09:45 278 150.0 (& =| 1BRi&e09:45 B3zh (REAERSE)
10:25 278 150.0 [Z=| {Ri%e@10:25 Bz (REAEESE)
11:00 278 150.0 [Z=| 1BRige11:00 Bzh (REERESE)
11:35 278 150.0 (& =| 1Ri%e11:35 Bzh (RAHERESE)
12:05 278 150.0 | =| 1Ri%e12:05 Bz (kAEREEE)
12:35 278 150.0 (Z=| 1BRige12:35 Bzh (REERESE)
13:10 278 150.0 S| {Ri%e13:10 Bz (RAERSE)
13:50 278 150.0 = RRiB013:50 B (RFAKESE)
14:30 278 150. 0 E BRige14:30 Bz (GRAERESE)
15:10 278 150. 0 El BRi&e15:10 Bz GRAERESE)
16:00 278 150.0 =l RRiB016:00 Bz (RFAEEE)
17:00 278 150. 0 El BRi&e17:00 Bz (GRAEREE)
2it] 4170.0 (15)%) 2250. 0 3 IHKEC: 2080.0, PH: 5.6

#H[EKECE (2163.0 vs 5050.0) 35



FRV (ml plant-1)

P3-8_0, Day=53 (2025-05-21)
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VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2506

i L 2000
100 161620 793
1400

50 A - 1000

74 Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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